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QUESTION 158 
An existing LPAR is configured with a vSCSI disk for a root volume group. An administrator is configuring NPIV
to provide secondary storage to the partition. DLPAR operations are used to add the required client and server
adapters to the client and VIO Server partitions. Once the NPIV adapters have been configured, what action
should be taken against the client LPAR to ensure access to SAN storage is not compromised? 

A. Shutdown and reboot AIX.
B. Shutdown and reactivate the profile.
C. Save the current configuration to a profile.
D. Add the physical WWVPN to the virtual device configuration.

Correct Answer  C 

QUESTION 159 
Consider the following screen capture.
The administrator needs to add 512 MB of space to the /db2/db2sp1 filesystem. What must be done before the
administrator will be able to add this disk space to the filesystem? 
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A. Extend the upper bound of the logical volume.
B. Increase the logical volume size first by 512 MB.
C. Add another disk to the exevg volume group and migrate partitions.
D. Increase the number of logical partitions the logical volume can hold

Correct Answer  D 

QUESTION 160 
In addition to enabling remote command execution, which task highlighted in the graphic below must be visited
to enable an administrator with hmcoperator permissions to run HMC commands from another server using
ssh? 
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A. "Change Network Settings" to open pott 22 
B. "Remote Operation" to indicate that this HMC can be operated from a remote host 
C. "Remote Virtual Terminal" to enable virtual terminal connections for remotely connected HMC 
D. "Manage Task and Resource Roles" to give the hmcoperator task role permission to ssh to the HMC from a

remote host 

Correct Answer  A 

QUESTION 161
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What are the three basic elements of RBAC in AIX? 

A. Groups, Keys and Access
B. Keys, Privileges and Groups
C. Users, Groups and KeyStore
D. Roles, Privileges and Authorizations

Correct Answer  D 

QUESTION 162 
Based on the following graphic, which physical adapter services fcs2? 

A. fcs2 on vio1
B. fcs2 on vio2
C. fcs6 on viol
D. fcs6 on vio2

Correct Answer  C 

QUESTION 163 
In the graphic below, the LPAR's current physical and virtual processor allocation matches its desired settings
How do these settings limit system processor assignment for the LPAR? 
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A. The LPAR can increase to 16.00 processing units of capacity in the shared processing pool as needed.
B. The LPAR will be able to use a maximum of 6.0 processing units of capacity in the shared processing pool.
C. The LPAR will be able to use a maximum of 4.0 processing units of capacity in the shared processing pool.
D. The administrator will be allowed to add a maximum of 4.0 additional processing units to the LPAR using

DLPAR, making its allocation 6.0 processing units.

Correct Answer  B 

QUESTION 164 
Which resource is required to make the cluster configuration data available when using Cluster Aware AIX? 

A. A cluster controller node that keeps the cluster configuration data synchronized between nodes.
B. An NFS file system that is accessible with read/write permissions by all nodes that form the cluster.
C. A supported disk in a highly available storage configuration that is accessible by all nodes that form the

cluster 
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D. A "quorum busting" disk to prevent loss of quorum from impacting availability of the cluster configuration
data. 

Correct Answer  C 
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